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You must have:
Ruler graduated in centimetres and millimetres, protractor, compasses,
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Instructions

Use black ink or ball-point pen.
Answer all questions.
Answer the questions in the spaces provided
— there may be more space than you need.
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e If your calculator does not have a # button, take the value of = to be 3.142 unless the
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— you should take particular care on these questions with your spelling, punctuation
and grammar, as well as the clarity of expression.
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e Keep an eye on the time.
e Try to answer every question.
e Check your answers if you have time at the end.

This publication may be reproduced only in accordance with
Edexcel Limited copyright policy.
£2010 Edexcel Limited,




Answer ALL questions.
Write your answers in the spaces provided.
You must write down all stages in your working.

Here is part of a train timetable for six trains from Birmingham to London.

Train A B C D E F

Birmingham | 06 35 07 00 07 15 07 30 07 45 08 00

London 08 09 08 39 08 48 09 04 09 59 09 39

(a) Which train takes more than 2 hours to go from Birmingham to London?

....................

(b) Work out the number of minutes taken by Train D to go from Birmingham to London.
OT7:30 =+ O0F:09 = 20 +60+ F =FF

2
Paula has to go to a meeting in London.
She will catch one of the six trains from Birmingham.
She needs to arrive in London before 09 00
() Work out the latest train she can catch.
ke
(1)

(Total for Question 1 is 4 marks)

Write -13% as a fraction in its simplest form.

(& xS B e
30 e & S it 58

(Total for Question 2 is 2 marks)
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Here is a conversion graph that can be used to change between kilograms and pounds.
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(a) Use the graph to change 22 pounds to kilograms.

(b) Use the graph to change 2.5 kilograms to pounds.

Fabio weighs 110 pounds.

(c) Change 110 pounds to kilograms.

o & = Ex 220 —= .

VORI B B e T e kg
= Sx o é.& (ﬁum@.) P
= B ég (Total for Question 3 is 4 marks)
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There are some coloured beads in a bag.
The beads are green, red, yellow or blue.

The table shows each of the probabilities that a bead is chosen at random will be green, red or blue.

Colour Green Red Yellow Blue
Probability 0.15 0.35 D% 0.20

(a) Work out the probability that a bead chosen at random will be yellow.
| - (0. 15+03S+ o-’z) = jial =R

(b) Work out the probability that a bead chosen at random will be red or green. -
P(ruo Wﬂrce;,) o P(rtcg) < o P(ﬁ’f—iﬂ)
= 0.5 +0o.15
= &.8
. 5
................. (2)
There are 400 beads in the bag.
(c) Work out an estimate for the number of blue beads.
c2x 400 = 8a
..... s G
)

(Total for Question 4 is 6 marks)
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*5.  Some students in a class weighed themselves.
Here are their results.

Boys’ weights 0 & A oy o
Girls’ weights [ A g s e e g
Compare fully the weights of these students.

Sevbal  Cabs:

Baegt: 45 S22 632 €2 %S o A

Golr: 99 ag 47 55 U 6l & E5 €7

Ea&g
Uedin (avdle s7) = 4“@4, Pl
For Q, wan k'?-{-f) u;Q & = =2
Fir sy 68 @3 = 70
Merw = (256524 b2+ 62465t 71707 = 61.9 (14.5)
GHAs
s, (s‘ﬁr.f ) =
(g A«:....,;';.Z““Q 239 T 9lie e kg
Mo = 69 e
P (¢4-+4»5‘+ - 606 = SS9 (14p)
The QCAI Gee ?em@ 1&.(’ the. Cae 6°"$—' C"d{‘hrm‘g“'"

(Sé . 63%) A e ( B r_-.Féf ?‘) NG Gratmg (4-9"<¢S) Aoy
(47<72)

"""—Ftl‘f"-e—ﬁ—-g—f{ Fdec5es o Che Saue ({8 éj_) k

(Total for Question 5 is 6 marks)
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6.

The table shows some information about the lengths, in minutes, of 40 films.

Time, T, in minutes Frequency %'@‘:‘P €3e
60 <7 <80 8 7O Sto
80<T <100 12 90 [o%0
100 <7 <120 6 (o 660
120 <7 <140 14 /3o (82O
£f= 4o £6e= 420

Calculate an estimate for the mean length of a film.

= £3¢ = (20

Z-F:ci—o
s _ e
s

e m..:.‘.gﬁe.:.

.. minutes

(Total for Question 6 is 4 marks)

Practice Paper B 1H 7




7. Here is a picture of a some children getting onto a double-decker bus.

(a) Estimate the height of the children.

...... /'%m

. 2 fa 1-San allecsef]1)
(b) Estimate the height of the double-decker bus.

é_g__ w [ F =4

-0
2 4 - Fa

................................

(Total for Question 7 is 3 marks)

Trevor measures the length of his maths book as 27 cm correct to the nearest cm.

(a) Write down the greatest length this could be.

(b) Write down the least length this could be.

..........................

(Total for Question 8 is 2 marks)

Practice Paper B 1H S




9.

Jodi bought a car for £12 000
She bought the car 3 years ago.

The car depreciated at a rate of 10% each year.
(a) How much is the car worth now?

h-e,a:cr_lq,&«:‘:& o 0% prr ooy
2. % 0:9 eady qeay.

[200 o-‘??:_- 87¢8

Mia also bought a car for £12 000
Her car also depreciated at 10% a year.

(b) After how many years will her car be worth £6000

1o < o .94—:. 79722
noeox 6.9~ = 70 BK 8BS
Rocoxo-98 = 6377.29

[2000x 0 .27 = S7IPLL @— aro Llooo (cdchsns
lo Gove e 6377) 3
O 1Z2een = (puts iar chewcaf&rd-«.w% a2 ANS)
ANS % 0.9 =
i presld = 7&2;4.1
Cal] gd- £ oo

....... 7 years

g w gt

(Total for Question 9 is 6 marks)
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10. Mary recorded the heights (/) in cm, of the girls in her class
She put the heights in order. Clheack, the G:.; < Sorte @réecla "

132 w4 sp i) s e e e
(@  Calculate (£ g&ds, n =15
(S
0 veionrauie wee (@) @Y $ ks,

t& ....{.ﬂ...cm
(ii)  the upper quartile. (dse 3 CH' () = 2x f{é-c: [T valeeo
[MﬂﬂQw.n = (A—_;_{'—-J Oa,(.u.g, E&ﬂaf.c: /677 At i
0))
(b) On the grid, draw a box plot for this data.
GRLS
h
130 140 150 160 170 180 190
3
Here is a box plot showing some information about the heights of the boys in Mary’s class.
YA
: : E e w
130 140 150 160 170 180 190

Compare the distribution of the heights of the boys and the girls in Mary’s class.

The tiedion hoigld -t s (1€7ag) & faller thon. G

Qiaer 5 Tl é:‘n-f //63&:)/2:&—1‘ Mielnertn, S, Bz 60 L Acatciunan
are oll slark s dor t: G Brane Ore bossT . Bt owud guls
have Gee Scare aaprte_uﬁ.(e e Czs) : 2)

(Total for Question 10 is 7 marks)
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11. The incomplete table and histogram give some information about the ages of the

people who live in a village.

frequency
density | (2
/
i
4

(a) Use the information in the histogram to complete the frequency table below:.

o’

-

Age in years

4 arel =
(2o
0 10 20 30 40 50 60 70

cless $ey,
Age (x) in years Frequency coid(E aﬂ-e.-‘sd'g /
0<x<10 160 o Bo”

10<x<25 IS¢ = 60 S 4
25 <x <30 Ex8 = 4-0 S 3
30 <x <40 100 o |BEE=io
40 <x <70 120 30 L 5

()

(b) Complete the histogram.
(2)

(Total for Question 11 is 4 marks)
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12. Here are four cumulative frequency diagrams.

A C
i
i
/ ;
/: I
i ¢ :
I._'"”"".I"""l@I_
R, bt

Here are four box plots.

il

S

For each box plot write down the letter of the
appropriate cumulative frequency diagram.

A J

A 4

Pand..g—.....
Qand .. [2...
Rand ..[3

Sand...&....

(Total for Question 12 is 2 marks)
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{ % % Sally has a fair 4-sided spinner numbered 1, 3, 5 and 7
and a fair 6-sided die.

He spins the spinner once and rolls the die once.
To get the score he adds the numbers together.

(a) Work out the probability that the score will be 3
Scave R n-«-u.sf'é-.e Sﬂ&ngf{ e A‘e-z

Ay
P(S:l):——.‘%;—) @CD:‘Z):”-I/GJ @:}Q

41 2 ® 4 € L Wac
SPeuns o @ * F 6T bl 2% eesibl
Zig & & 7 2% o Flguaes
S Sn e s 9 re 1|
ol 8 s i 2 9 s
R
(2)

(b) Work out the probability the score will be less than 5

B € e = N8 o Leoc,
<}.

4"'-:.3!-?.{ ﬁ-j' s 24

-t
Gg¢- T 5

(Total for Question 13 is 5 marks)
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14. A bag contains 3 black beads, 5 red beads and 2 green beads

Gianna takes a bead at random from the bag, records its colour@
She does this two more times.
Work out the probability that, of the three beads Gianna takes, exactly two are the same colour.

P@) =2 PR =% |PE= 7
PlE) = Y. P(E)=$ P(E) = ¥
(P (udd éé,,..&) P(RsrG) = (- 3he <7,
g 2 cggL' Roo & S

we A-—c_g_C—Q

J probe belily
ng; gég, BRI x> x L

or RRR, gRE RER 2x Fox Varx o
o £6G, CEe GoC B Uowi 2
fskl s (3\-:35(? + S¥ERS + 222% 8) = €60
(S0 (50O
= ce
oa
= 3%
Sa

@PQ’S‘P S @ 3T
........ L =
(Total for Question 14 is 5 marks)

Adterme ko els -

TOTAL FOR PAPER = 60 MARKS

PO’&JQ&& J.mc):: [— P@&ML)“P(Z@ Seu.t) 3
Plelt differas) = (x EniSnly = {38

{ = 1 (=Y (ano

826, Ber, REG, RGB, GBR, GRR)
P(all fawee ) = P@UR) + P(clQ) + P(all §) = (7) CS') =y
- 7253
P (foosae)= [— B2y [~ B Geo

faso /&=Do
14
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Fack !

B e ko e, e

. [
P(25euce) = 7= (3% (2x7+5x842x5) +5(3x B45%St247)

+ 2% (2S¢ Sx7+2x'3))
— G6o

—
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